YEAR 12 PRACTICAL 3
Aim: To determine the concentration of a sample of vinegar
Introduction: Vinegar is mostly ethanoic acid, CH3COOH, which reacts with NaOH in a 1:1 ratio. The concentration of the NaOH given is 0.1 moldm-3.
Part 1: Planning

1. 
The acid is believed to have a concentration of approximately 1 moldm-3. State the molarity required for a titration with the NaOH, and describe briefly how the vinegar can be converted into a solution with this approximate molarity.
2.
Summarise the procedure you will use to deduce the exact molarity of the vinegar.

Part 2: Implementation

1. 
Pipette a 25.0 cm3 sample of the vinegar into a volumetric flask.
2.
Make the volume up to 250 cm3, shaking continuously to ensure the contents are thoroughly mixed.

3.
Transfer some of the diluted acid to a burette, after rinsing the burette with the acid.

4.
Pipette a 25.0 cm3 sample of the sodium hydroxide solution into a conical flask

5.
Titrate using phenolphthalein indicator, roughly and then accurately until two concordant values have been obtained.

6.
Record all titre results and mass measurements clearly in a table

Part 3: Analysis

1. Deduce the number of moles of sodium hydroxide used in the titration, and hence the moles of acid used in the titration.

2. Deduce the number of moles of acid in the original sample.

3. Deduce the concentration of the vinegar in gdm-3.

Part 4: Evaluation

1.
The exact concentration of the vinegar is 62.3 gdm-3. Deduce your percentage error.

2.
Deduce the experimental error for the procedure using the following apparatus errors:



volumetric flask:

(0.05 cm3
pipette:


(0.05 cm3
burette:


(0.15 cm3 

3.
Comment on your answers to 1 and 2
